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Fudfrtr N 01 tunrrlp N 01 'Iuu N 01 Opbtrurlltp tr qnpdrurlfrp rftuprlfrtrtrbp, qbrnullut lrunrur{urpnul

1. 9npdu4[p [2[uubnrplu!, qbuu!utr !runurr[ruprlrutr hrutrpruulbr,nullutr h mruprudpullrtr !unu{uprlutr
rlunrlhtrtrbnh ururhururtrnr.rl lfu urfu urnurnLbnh urhrurrnurhurorfhnh rftrrrrnrll

17901,7

uuut.u.qnuusLbn 6052.3
09132100/r pbtrqfrtr, qnbdhnrll c< thrnn 480.0 6,140.0 2947,2
o9132200/1 pbtrqhtr, nbqnrrrurn c< rhmn 460.0 2,670.O 1228.2
09211114/1 lundhlh rnrn. Lhuuuhtrrabr"nhh c< rhurn 3.000.0 20.0 60.0
22211300/1 Luurnpbnu hruL drurlnrr FCU< rlnurl 251.400.0 1.0 251.3

22411150/1 trnpturnbr.nnbn c< hruur 230.0 20.0 4.6
22811180/1 on urq.n b n [r ur rlbbo n r ur tr rn rrltr bn h rn br.n n bn c< hrum 1.200.0 14.O t6.8
30121460/1 mntrbnurhtr punmnhofu bn c< htuu 9.000.0 6.0 54.0
30121460/2 m ntrbnru rhfu ournrn nhotbn c< hrum 9.000.0 6.0 54.0
30121460/3 mntrbnurhtr punmnhofu bn c< hurm 9.000.0 6.0 54,0
30121460/4 rn ntrbnrur htr orun rn nhohbn c< hruur 9.000.0 5.0 45,0
30121460/5 rn ntrbnrurhtr orunur nhohbn c< hruur r2,000.0 1.0 12.0

30r92100/1 nbmhtr hruurunruh c< hruur 100.0 50.0 5,0

30192128/1 qnhl qbrurht c< hurrn 150.0 40.0 6.0

30192135/1 onru$h rn b rlhonrL. rlurn hrn h hr.urJurn c< mnuh 300.0 14.0 4.2

30192136/1 rlrumhm, cnu$hmb, rnbnurnndnn rlhsnrhnd c< hrurn 200.0 20.0 4,0

30192137 /1 rfturnhrn, qnu$h$b rlhpnrUnrl, huurunuU c< hurn 100.0 14.0 1.4

30192160/1 rurnhfutrbn c< hum 280.0 30.0 8.4

30192220/1 qnfrdbprul frtr frtrptru!qlnrtr druqru rlb!,
1 9rftIx36d qn u ubfu r ruLurhL, rhnBn

c< hrum 40.0 20.0 0,8

30192710/1 unutrdturlur.n h rn, cnuubbtuhuth! c< hurn 200.0 52.0 10.4

30192720/1 qduLrhr c< hurn 250.0 33.0 8,3

30192760/1 unhr. unrlnnurhtutr c< hum 100.0 40.0 4,O

30192781/l houptudurtrhl, BnBb c< hrurn 340.0 60.0 20.4

30193110/1 qpbLru!rutr qfrur nrlptrbp[r 4ruuur[nprlutt
1""'f',,^"'t'nt'h. lt rttttrnrrrnrrrhhn

c< hrurn 2,700.o 3.0 8,1

30197111/1 hurnhlh ilbrnrunrurunb Ururubn, thnpn c< rnnrrh 100.0 10.0 1.0

30197112/1 trrunhrh rlbmunutrunb trruulbn, dhphtr c< rnnrrh 200.0 r0.0 2,O

30197231/1 ran Burtqrutrutt, qnft dbp rulhtr prurlubp, $q1 c< hurn 10.0 1,080.0 10,8

30197234/1 Bntarutrlu!uh, hnlur hurqdnrl c< hrutn 900.0 30.0 27,O

io197321/1 Lurnhr. rJhbrh 20 pbnoh hrurftun c< hruur 600.0 4.0 2,4

30197322/1 trunht, 20-50 BbnBh hrurlurn c< hurrn 1.200.0 6.0 7,2

30197631/1 Elnrnra, A4 $nnrlumhl /21x29.7/ c< urnrrh 1.800.0 158.0 28'4.4

30199420/1 trrnrrjfu bnh hudun, unutrdrlrudpnrl c< r,nnr.rh 250.0 15.0 3.75

30199430/1 ran rnra trrnrrl!bnh, r,n nqruhfu bnn{ c< ur nr.rlr 350.0 t5.0 5,3

30234300/1 numtunl uhurlrunuL, runrutrg rnnrrfrfr' CD c< hurur t50.0 200.0 30,0

30234620/1 $rbr hhrnnnLratnrh, 4GB c< hrurn 2,600.0 4.0 10,4

ao)i4630/1 $rbr hhrnnnrornrtr. 8GB c< hurrn 3.600.0 3.0 t0.8

30236100-l hrurlutlupqlfi hfr2nrlnrpln rtrp rlbdtugbnrl

uunpbn

c< hurn t2,000.0 3.0 36,0

30236100/2

30236110/1

hurf u!rupq1[r hfr2nrlnrplnrLp rlbdrugLnrl c< hrurn 12,000.0 6.0 72,O

rwbnrurn hrl hfr2nrln rplntt (ram) c<
c<
c<

hrur.n 25.000.0 2.0 50,0

hruur 6,000.0 5.0 30,0
30237112/1 ulrnrorlutr ntnh

hturn 30.000.0 1.0 30,0
30237140/1

c< hurur 79.500.0 1.0 79,5
31431100/1 Iuluunurapd u1[rL llnrm uIfrttbn

hurn 45.000.0 3.0 135,0
31431100/2 c<

FCU< hrur.n 1.800.0 12.0 21.6
31512210/1 ribur runtru hut ncbhulh! lurrlq I 50'tm

hurur 1,700.0 12.4 20,4
31512220/1

31531210/1

ilburuntru hulnqbtulhtr Fuilq 75'Lm FCU<

frbtrmntutrutr turlq, 60W, 80W 100W FCU< hurrn r00.0 50.0 5,0

hrur,n 400.0 25.0 10,0
31 531 500/1 An,,,{ ecu<

pcu< hruur 500.0 45.0 22,5
31 531600/1

FCU< huu 1.600.0 15.0 24,0
31685000/1 pcu< hruur 100.0 51.0 5,1
33761000/1
34351200/1

onrounuhh ranlI]a' nntlnunq
1.0 40,0

l rlur nrlbpbtrutrbnh rubh{bbn c<
c<

pcu<

hurm 40,000.0

hurr,n 40,000.0 4.O 160,0
34351200/2 urrlu nrlbpbbutrbPlr utr[{tbn

hum 300.0 24.0 7,2
39221130/1 prudruULbn



39263410/1 ru rlpru!, rJbur ruqlur, rhnBn c< urnrrh 180.0 10.0 1,8
39263420/1 urjnruU, dbtnunrru, rlb6 c< r,nnrrh 400.0 r0.0 4,0
39263510/1 ub4t!u[, rfrnBp c< hurn 25.0 154.0 3,9
39263520/1 ubnduh, rlhshtr c< hrum 40.0 100.0 4,O
39263530/1 ubndub, dbd G< hrum 60.0 50.0 3.0
39513200/1 pqpb utlibnnqhU, bnhrbnrn PCU< hrum 100.0 660.0 66,0
44521170/1 Unnqbplbn pcu< hrurn 4.550.0 4.O 18,2
091 32100/1 pblqf!, qpbrlfrnul c< thmn 3500
30121460/1 Ln nLb[u1f tr pupr.n p[9trbp c< hwrn 6
30121460/2 ur ntrbpulfrb prup ur pfrgtrbp c< hurn 10
30121460/3 m ntubpru;fitr prunm nhptubn c< hrurn 16

uuu ilr. uunu3nFrd3nFLLbP 11849.4
50111130/1 ur{ur nrlbpbtrrutrbp[ {bputrnpnqrlurtr

dunrutnrprnrtr!bn
FCU< rlpurl 495.100.0 1.0 495,1

50111180/1 ur {rn n dbpbtr uL b p fr p{ru g rlurtr h tr rlurL ru ur }r u1

6tunurtnrprnrtrLbn
c< 'IprurI 800,000.0 1.0 800,0

50321400/1 prugnrgfrl (6ulprudruurulfrtr) uruppbp[r

r.l bntutrnnnqf u.rtr drunurrnrtarnrLtrbn
c< rlpurl 500.000.0 1.0 500,0

50321400/1 p rugnrgfrl (6ulprurluruulfrL) uruppbpfr

dbnrubnnnqrlrub 6urnurnrrarnrtrfu bn

c< 'IprurI 1.0

5011't180/1 u rlrn n rlbpbb rutr b p Jr llru g rlurtr h tr rlurfu ru rn fr q
0runrutnrrarnrhtrbn

c< tlprurl 1.0

64211110/1 tn b r1u1 f tr h b nru fu n u ru1 frfu Oru nrul n rp1 n rtrtr b p PCU< rlpurl 270,000.0 t.0 270,O

64211120/1 df2pru rluprul ftr h b nu [u n u ur1 [r!
6runrutnrratnr.trfubn

PCU< npurrl 899,600.0 1.0 899,6

64211130/1 Fglu1htr hbnu Junutrbpf 6unulnrplnrtr!bp FCU< rlprud 1,226,000.0 t.0 1226,O

99500000/1 plnrgbLbpf lurr.nurprlutr rftuufrtr ((
opbtru4pnrp1turip uuhrlrufu rlud 4brqpbpnu.t

{ru p1u ! ruL u 11 rn [r h ]rdutr rlp ru rlurm n r.g {ud
6unulnrplnrfubbp

qau tlpurrI 540 1 540,0

65111100/1 [udblnr gpf pu2funrrl pcu< tlprurl 50,000.0 1.0 50,0

65311100/1 h1b! m p ur l1 rutr n rp3 ur! pur2fu n rrf FCU< nprurl 4,456,700.0 1.0 4456,7

66511170/1 f nfuurrlpurlftgngtubpf hbm \uqtlu0
ruq ruh n{ruqpru! utr drunulnrplnrtrlbp

PCU< tlprurl 200.000.0 1.0 200,0

72212227/1 h ru ! u t{f p n ru u.; frtr h ur rlu ! ru pqlu1 htr
6p ruqp urlfrtr r|l u pbpt bp I rl2ru ! rltutr
ArrrnrrrnrnrnrtrhLn

c< tpurl 500,000.0 1.0 500,0

72511104/1 gurtrgh 11u nrurlrupduL 6puqpulftt
ururruhn rlrftut 6urnurnrrarnrbbbn

FCU< rlpud 280.800.0 1.0 280,8

79111200/1 trbp\upugnrgluEutr drunrulnrp;nrbbhp FCU< 'IpurI |,050,000.0 t.0 1050,0

79821170/1 rn r4 u qp u 11 rutr [r ur nrupdrutr dru nrul n rp1 n rtrL h p c< 'Iprud 31.200.0 t.0 31,2

99600000/1 trbnphtr qnn6nrnnLilbbn qau rlnrurl 550,0 550,0

FudfL N funnlp N 06 nuu N 01 FtrrulluprutrrulJrb 2frtruprupnrplutr h lnrfnrtrul drunulnrplnrbbbp (tu11

4ruubpfrL lqrur,n!uLnfl
1. gnpdrurlfp f2fuutrnrplrutu, qbmrulrutu [runrur[urprftut hulpuulburullut tr rnupru0Brulfr! lrunurrlrupdutr
rlurpffrtuLbpf qurhqutrnrrl (trruluuprupnrplnrbtubp[r u2Jurur.nullurqrlbpfr rluun{)

63184,1

ttuut.u'qnuLe'ubn 18211.3

09132200/1 pbLqft, nbqnrgtup c< rhmn 460.0 19.635.0 9032.1

41111'tOO/1 ndubrnr onrn Peu< nnrurl 1818 66 120.0

22211140/1 abnrabn pcu< rlnurl 70.000.0 1.0 70,0

22811150/1 lrnpurnbmpbp c< nnrurl 230.0 100.0 23,0

22811180/1 onuqnbn h urlbtrontu furnrrllbnh rnbunbn c< hum 1.200.0 50.0 60.0

22811190/1 tu?luumutputhtr cnPnrtll c< hrur,n 1.250.0 30.0 37,5

30121460/1 ur ntrbnrurh! prupm p[9tbp c< hrurn 43.000.0 4.0 172.O

30121460/2 Ln ntrbnrurhtr prunrn nhptrbn c< hrurn 48.000.0 3.0 144.O

30121460/3 ur ntrhn ruthtr pur nrn nhotrhn c< hturn 48.000.0 3.0 144.O

?f)1)146r|/4 rn ntrbnrurhtr punm nh9!bn c< huur 48.000.0 3.0 t44.O

30164000/1 rUttuumh[] Bu.tnm c< hrurn 750.0 64.0 48,0

30192100/1 nbuhtr huuunrult c< hrum r00.0 70.0 7.O

30192128/1 +nhr qhtuthtt c< hurn 150.0 500.0 75.0

30192135/1 nnulbhmb rlhonrb. rfturnhrnh hurdrun c< mnrilt 300.0 30.0 9,0

30192136/1 dutnhrn, qnu$hmb, rnbnunn{nn dhlntl.ln{ c< hurn 200.0 60.0 12.0

30192137 /1 rluurhu. crnu$hrnb rlhonrhnd, huuunruU c< hurn 100.0 50.0 5,0

30192151/1 trbhp. rudunf rutn, ntnnuLhlnrtr c< hum 8,000.0 3.0 24.0



30192152/1 [LhB, urlurnrftum, Lrnn c< hrur.n 8.000.0 3.O 24,O
30192160/1 lmnhJutbn c< hrum 280.0 140.0 39,2
30192220/'l qnft dbpu1 frL frtrptrtu11rq1nrfu drurqrur{bfu ,

1 9rftIx36rJ crnuubbrruLurhtr. rhnon
c< hrum 40.0 80.0 3,2

30192710/1 unuh&rurJum hm, qnuubfu tuUuthL c< hurm 200.0 190.0 38,0
30192720/1 q6utt2f1 c< hrurn 250.0 180.0 45.0
30192760/1 up[r1, un{npru[1rutr c< hrum 100.0 96.0 9,6
30192781/1 b2uprudrutrfrl, ptpb c< hrutn 340.0 132.0 44,9
30193700/t prlpru 4ur p ur 11, h urp 11 bp n t{, rq 1u u r.n rltu u h G< hurn 3,300.0 10.0 33,0
30197111/1 Lunhlh rlbrnrunrurunb Urutubn, fi npn c< unrrh t00.0 140.0 14,O
30197112/1 Iunhth rlbur rurlurpupb \ruqbp, dhghtr c< urnrrh 200.0 90.0 18,0
30197231/1 BnBuulutruh, ulnthfbnurhh rarunurbp, $rurr c< hur.n 10.0 9,960.0 99.6
30197234/1 pqpruqurtrur!, !n2rn lluqdn{ c< hrurn 580 133.0 77,14

30197321/1 lrunht, f[t1L 20 pbpph hrurlurp c< hurn 600.0 70.0 42,O

30197322/1 hurnhr. 20-50 labnlah hurrlun c< hrur.n 1.200.0 20.0 24,O
30197323/1 hunhl, 50-hq rudbrh pbnrah hturftun c< hrur,n 8.000.0 3.0 24,O

30197631/1 pnrep, A4 $npdrurnfrl /21x29.7/ c< rn n rrfr 1580 350.0 553,0
30199231/1 trrurluLh dnrun. A5 ihrurrurhh c< hum 20,4 11,250.0 229,50
30199420/1 lanrn rd U?nrdtrbnh hrudrun. unuldrlur6onrl c< unrrh 250.0 180.0 45.0
30199430/1 Bn14p tr2nr.rftrbnh, rn nquL!bnnr.l c< mnrrfr 350.0 180.0 63,0
30234300/1 numunL ulrrurlurnuL. runruhq mnrrhh, CD c< hrur,n 150.0 566.0 84,9
30234620/1 $tbr hhrnnnrBsnrtr, 4GB c< hrur.n 2,600.0 23.0 59,8
30234630/1 $rbr hhrnnnrBrnrtr, 8GB G< hurrn 3,600.0 6.0 21,6
30236100/1 hurlu! rupqlfr h[2nqnrplnrtp rlbdughnq

uurnobn

c< hrum 12.000.0 4.O 48,0

30236100/2 hudtullupqlf hfr2n rlnrplnrbp rlbdrugtnrl
urunobn

c< hrurn 12,000.0 5.0 60,0

30236110/1 orubnr.uurhrl hhrnnnrarnrL (ram) c< tlnrur-l 25.000.0 4.O 100.0
30237111 /1 u! n ro r.lrutr r-fuu n ur [r no c< hruur 10.000.0 30.0 300.0
30237112/1 ufunLorJrutr nrnl-r c< hrurn 6,000.0 30.0 180.0
30237140/1 rJutnruLrutr utturn ulbn c< hur.n 30,000.0 2.0 60.0
30237140/2 rJtutnru Lurtr ruturrn tufu bn c< hrurn 30.000.0 2.0 60.0
39263310/r onuqnrtg, ubnrutrh c< hum 900.0 30.0 27.O

39263410/1 rurJnrub, rlbm untu, rhnBn c< mnrrh r80.0 150.0 27,0

39263420/1 rur.[nuL, rlbr,n run tru, rjbd c< mnr.rft 400.0 50.0 20,0

39263510/1 ubndruL, r.hnpn c< hrurn 25.0 300.0 7,5

39263520/1 ubnduh, dhlhtr c< hruur 40.0 945.0 37,8

39263530/1 ubnduh, dbd c< hruut 60.0 200.0 12,O

31531210/1 trbhLnnuUrutr rurltq, 60W, 80W, 100W PCU< hrum 100.0 144.O 14,4

31531500/1 qbnbLurhtr t rurlt{ 60urI PCU< hum 400.0 50.0 20,0

31 531600/l qbnblurhtr rurftu'l 20url Feu< hruu 500.0 70.o 35,0

31651100/1 rJbLrnruhr druulutl btr. on urLurbb FCU< hruur t50.0 12.0 1,8

31683300/1 bnupu2fu[1, {u pr}uq Jttt tlf ug{nq, unutg
rrrrnh

ccu< hurn 250.0 32.0 8,0

31685000/1 hrbbrnnuLutr bnLurnruqduh trun PCU< huru 1.600.0 13.0 20,8

39221130/1 pruduhbbn FCU< hrur,n 300.0 24.0 7

39221140/1 rabrh burJ unrn6h nrudruhtrbn Feu< hrurn 225.O 24.O 5,4

39513200/1 onrab utrbbnnqhU, bnbrbnu FCU< hrum 100.0 369.0 36,9

39522250/1 Lh nrnr h urrluprlrutr htn nnlbn pcu< hruur 280.0 75.0 21.0

39711220/1 fr bLrur nruLuL un6brhbbn Peu< hum 3,500.0 20.0 70,0

39711230/1 abrh uuunuutnrlrub hbLmnruhtuh uunpbn FCU< hurur 7,000.0 16.0 112,0

39831245/1 o6run. hbnnrh pcu< lhnn 320.0 25.0 8,0

44521170/1 hnnubpLbn pcu< hruut 4.550.0 10.0 45,5

44521200/1 Innrubpbbnh rJuubn Peu< hrurn 1,200.0 40.0 48.0

32411130/1 hurlruqutrq c< tlnturl 4.000,000.0 1.0 4000,0

34351200/1 rurl m nf bpbtrutrbnh uth{tbn c< hurn 55.000.0 4.0 220.0

34351200/2 u rl rn n rlb nbt^r rutu bn h rutr h rlt b n c< hum 55.000.0 4.O 220.0

34351200/3 urrl Ln nrlbobfu ru!bnh utrhrlbbn c< hruur 55.000.0 4.0 220,O

34351200/4 udrn nf bBbtrrutrbnh rubh{Lbn c< htum 60.000.0 4.O 240,0

34351200/5 rurlm ntlbpbbrutrbnh uthrlbbn c< hruur 40.000.0 3.0 120,0

34351200/6 ru { m n rlbpbtr rutr b n h ruLh {!!n c< hurn 39.500.0 2.0 79.0

09132200/1 pbbqhtr, nbqnrgup c< rhmn t1700

30121460/1 rn nbbnurhb purnmnhptrbn c< hurur 4

30121464/2 ur ntr bp ru1 frt"r pur n m n hg! b[ c< hrum 4

30121460/3 m nLrbnuthtr pup rn pf2tufu c< hruut I
30197631/1 pnrlp, A4 $nprlutnfil /21x29.7/ c< mnrrf 250



32411130/1 hrurlrugruLg c< tlnurl t.0
r,ruu ilt. uurlu3nFG3nFLUbn 44972.8

50111130/1 urr{urnrlbpbfu utbp[r r{hpurLnpnqrlulr

durnurrnrrarnrfutrbn

c< rlprud 6,514,900.0 1.0 6514,9

50321400/1 prug nrg[r1 (drulpurrluurulfrL) uuppbp Jr

rl bnurLnnnor-furL durnurrnrrarnrfu fu hn

c< 'Ipuf 990,000.0 1.0 990,0

50321400/1 pugnrg[r1 (drulpurluuru.;frt) urupBbp Jr

rl bnutrnnncdut durnturnrprnrtrtrbn
c< npurl t.0

50531200/1 f 1b ! u p ru ! utr u ru pp bp fr, u u pp ru rln p n nltr bp lr

{bpur!npnqrlrub h qruhqrutrdutr
6urnurrnr arn rhhhn

c< rlpurl 510.000.0 1.0 510,0

601 811 00/1 pbnturn ruptrbpI r{rupdu!urlnrpgnrfu '
tlru nnnnh hbrn rlhruuhtr

Feu< nprurl 120,000.0 1.0 120,0

64111200/1 rfrnum ulfrb 6runurlnrplnrLtrhp' {rurq{rud
btulfuuLrtrbnh hbur

FCU< npud 240.000.0 t.o 240,O

64211110/1 m b rltul htr h b nru Ju n u ru1 frtr 6u nurl n rp1 n rtr! b p FCU< npurl 1,800,000.0 t.0 1800,0

64211120/1 rlf gpuqruprulfrl hbnulun urulfrtr

6urnrurnrrarnrtrfubn

pcu< 'IprurI 3,728,300.0 t.0 3728,3

64211130/1 plgru1hb hbnrufu nutrbpfr drunru.lnrplnft tbp PCU< nprurl 3,200,000.0 t.0 3200,0

65111100/1 furlblnr gpfr pru2fu nrrl ecu< nprurl 139.200.0 't.0 t39,2

65311100/r h1b!m pru!utr nrplruL pur2Junrrl FCU< npud il,169,900.0 1.0 11169,9

66511170/1 { nfu u4pru dfrgngtrbp[r hbrn !ruqr{rud
ur ur u h n d rucrn ru L urtr 8ru nur r n rrar n rfu tr bn

pcu< 'IpurI 560.000.0 1.0 560,0

70331300/1 n1 pbullbft utr2tupd qnqBft Qrunur{ruprlutr
6unrurnrratnrtrtrbn

pcu< rlpurl 5,771,600.0 1.0 5771,6

72211174/1 h u2rlru q ru h u llutr h ru rftu ll tlnqtu{htr
6puqprulfrtr f upbp!bpf rl2ru11rlrutr

Arrrnrrrrnr arnrhhLn

FCU< tlprurl 90.000.0 1.0 90,0

72212227/1 hru!u {frpnruur1frL hurrlu11rupqlu1htr

6puqprulfrtr { upbplbpI d2rullilutr
t,t, t= n

c< 'Ipud 86r.000.0 1.0 861,0

72311110/1 m {rultrbpf {bptu{nfu rlutu 6runrulnr.plnrtutbp c< 'Ipud 740.000.0 1.0 740,Q

72511100/1 g utr g h 11 ru nru rlru p rlufu dp ru gp ru1 frfu

ruruuhnrltftu! dunurnrrarnrhtrbn

FCU< npud 495.000.0 1.0 495,0

75131200/1 tftup11!tu1f L nbunrputrbpfr hbr.n !ruul{rud
ptr 4h rutr n rp dru nu1 n rp1 n rtrt bp
lrrrtnttrtlrrrnnr arrrrfu httrtfi rrn

Peu< npurl 264.000.0 t.0 264,O

79111200/1 trbp\ru1ug nrgltullrutr 6runrulnrplnrltrbp FCU< rlpurd 330,000.0 t.0 330,0

79821170/1 ur q ruqp u ! u! h ru ntupdrutr 6u nrul n rp1 n rtrtr bp c< nprurl 490,000.0 1.0 490,0

79A21170/2 rn quqpru Irutr h u nrupr.lu! 6runu1nrp1nrLtbp e< rlpurl 500,000.0 1.0 500,0

79821170/3 rn q ur qp u l{ ruL [.r u nruB rlutr dur nu1 n rp1 n rtrtr b p c< rlprud 260,000.0 1.0 260,0

79951100/1 rlfgngru nnrrlbbp[r hbrn !uq{ud
trrrnrurnr nrnrtrtthn

FCU< 'Ipuf 850,000.0 1.0 850,0

90511160/1 n1 {rnrutrqrurlnn ul1Fh h purrf ntbbpft

h bnur g rlrutr h n$1ur g rltutr dru nu; n rp1n rtbbp
FCU< rlpuf 80.000.0 1.0 80,0

90671100/1 u Jurn uhu!rftutr tr rf uIrupnq6bbp[t

nltrlugrlrutr dunrulnrplnr!fu bp prurpupurlf!
1"",f ^'6'6,,,1,"'l',l""nhnnrrI

ccu< rlpud 45,100.0 1.0 45,1

92421100/1 pbppbpnrrl hurlr.ntupupnrplnrtrbbp Jt

'-"""^-'f,,,t, *,,,.,,rrnr arnth

FCU< npud 220,000.0 1.0 220,O

92511110/1 up Jufrr[ru1fr! Orunulnrplnrt"rtrbp Feu< nprurl 429.000.0 1.0 429,O

98311150/1 rlnppb rupu turlputrpbbph rluppdutt
6urnurrnrrarnrhhbn

pcu< rlpurl 300.000.0 1.0 300,0

72411300/1

99600000/.t

h ru rlu ! ru pqlulfrtr(www) f2fr 6 hru {n p dutt
6ur nur r n rtar n rh! b n

Peu< rlpuil 367.000.0 I 367,0

ubnphtr qnndnrnnrftrbn qau nnrurl 3907.8 1 3907,8


